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@ a_b:b_a
@ axb=bxa

@ (a+b)+cza+(b+c)
K ax((b+c)=axb+axc

@a-b#b-a
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=32+ {(-2)*+ (—4) x (-7)}

(FA4) = -9+ {-8+(-4) x (-7}
-9+ (—8+28)
=-9+20=11




B (=3)2x (~2%) + {(-2) x (—4) + 1} + 6 & Antai?

® 10 @ —-20 ® —10 @ -2 @2

(FA) =9x(—4) ~(8+1)+6=(-36)~9+6=—-4+6=2
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D 3x(~2)+(~2) + (-2) +3 = —2
@ (—=10) = (=2) x (+1) =3 =2

@ (—4)+(-3)x(-2)+2—-4=-5
@ (—14) = (-T)x2—-4=0

@)(=2)+ (~10) = (+5) x 2= 4 — (~1) = —6

B

D3x(-2)+(-2)+(-2)+3=-2
@ (-10) + (-2) x (+1) -3 =2
®(-4)+(=3)x(-2)=2—-4=-5
(—14) = (-7) x2-4=0

=2) + (=10)+(+5) x 2 -4 — (-1)
+(=2)x2—-4+1
+(—4)—4+1
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@D (=3)+ (+8) x (—16) = (+4) +21 =14
@ (—12) x (—3%) +6 — (—62) +4 = —58
® 11— (+3%) — 2% x (=10%) = (=5) = =80
@ 12+ (—4) + (-2) x 3= —12

@32x4+6—(—8)x4:38
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@ (=3) + (+8) x (—16) + (+4) + 21 = —14
@ (—12) x (—3%) +6 — (—62) +4 =58

® 11 — (+3%) — 23 x (—10%) = (-5) = —158
@124 (—4)+(-2)x3=18
®32x4+6—(—8) x4=38
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a=T—{8+(1—5)+6} b= (-2%) =+ (~4) x (=5 —11)
c=16—{9— (=T)} + (=4), d = —T+ (=3)> = (=9) + (~8)

® a, b, cd @a,d,c,b ® b, d ca

@c,d,a,b ©C7a7dab

B

a=T—{8+(1-5)+6}=7—{8=(—4)+6} =7—{(-2)+6} =
7T—(+4)=3 . |3| =3

b= (—2%) + (—4) x (=5 — 11) = (=8) + (—4) x (—16) = —32
o =32 =32

c=16—{9—(=7)+(-4)} = 16 — (+16) ~ (—4) = 16 — (—4) = 20
- 1201 =20

d= -7+ (=33 +(-9) + (=8) = =7+ (=27) + (-9) + (-8) =
T+ (+3)+(-8)=-12 - |-12| =12

sal < |d] < |e] < ]0)
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QD -8+6-21=6-8-21=6-29=-23

© (—4) x7—(-9) = —28 + (+9) = —19

® (=3) + (—20) = (=5) = (=3) + (+4) = +1

@ 6 —(=52) = (—4)=6— (+13) =6+ (—-13) = -7

oA |1 < | -7 < |- 19) < |- 23| °]E& © °] 7} Ztt.
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(+3) x {(=2)+ (+4)} = (+3) x A+ Bx (+4)=C+D =6
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;. A=-2 B=+43 C=-6, D=+12
wekA] A, B, C, D 9] &2 (—2) + (+3) + (=6) + (+12) = 7 ]t}
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a<0,b>092 M, o= F & A7

®a-b>0 @ a+b<0 @b-a>0

@ axb>0 ® bta>0
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Da<0, —b<0°ER ag—-b<0
@@EEN)a=-1,b=5< W, a+b=4>0
@Da<0,b>0°EZ2 axb<0
®@EHE)a=-3b=2d 0, b+a=-1<0
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@ axb<0 @ a<bd @%>0
@D a<0,b<0,c<0 (@)a<0,b>0,c<0
®a<0,b>0,¢c>0 @ a>0,b>0¢>0

®a>0,b<0,¢c<0

AD, QA a, b= FS7IHH0)|T 0 < bOlBE2 a<0,b>0

e
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(FA) =9—[-4—(+6) x {—4+1} +3]
=9—{—4—(+6) x (-3) = 3}
=9—-{(-49) - (-6)}=9-2=7
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(F4) =9x4-15+5
=36—3
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@ (-3)x4+6 © (—24) + (-12) x (1)
© 6+ (—2) x4 ©® 14+ (=2) — (=5)
® 6,0 ORNC) ® 6,0,
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O (-12) +6= -2
©2x(-1)=-2
©6+(—8)=-2
@ (-7)+ (+5) = -2
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@ 2x (=32 + {3+ (-2)*x (-3)}

O©3-{20—-22x(7-5)} +(-3)

@ 5 @ -5 ® 7 @ 14

O (BA]) =2x9+{3+4x(-3)}

=2x9+(3-12)
=2x9+(-9)
=18+ (-9) =-2

O (£A)=3-{20-4x (7T-5)}=(-3)
=3—{20—4x 2} +(-3)
=3-(20-8)+(=3)
=3—(+12) = (-3)

=3-(-4) =7
a=T7,b=-20B2 axb=7x(-2)=-14




